S 2485y i =R * 15
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| wILIHT Eein 40 | L1 RE 2. 85 3. THE 2. 85 2.8
A YERT il 9 BRV R ONRE 2T HERIF
1 PSRN o 2 A Hh K —n sl 18 | —
2 FELS o 40 | L1 |EruEEREE | —
ERTTEHE A R o AR 40 | L1 |(AkvEEREE | —
LFRELA o> it
1 J RLfaARKLL
(1) B Wi Py o B2 T i Ik e 7ot 900 | —
(2)  ERELSoHIE 40 | L1|% 10F 124 13+ 13
2 kLA o
(1) Bt L Hindale Py o B2 Tl PRI el 4.4 6.5 | —
(2) BRSSO 40 | L1|F 6.4 8.6F 13F 13
FeSHHET ik S B A P D f2 B XS —ft 4. 46l 6.5 —|  —
RFRLLA o> Hitkek 40 | L.1|% 6.4ff s.6F 13 13
W EREII 1 ~3TH |2 — | B |RerEE R | —
78 i FT e S ) B H FRR
1 BRI PN 00 B T HA K I —fl 1 17 - —
2 LRERIAh oD ey 40 | 1.1 |HLeBEHE NS — —
EFELIA O HiR
1 BREEIREME P 0D B T i —d 1 17— —
2 _LEBsA o ik 40 | L1[f 13 17 — —
£ THET B A A5 — | B R - —
R T EHE S R T 40 | 1.1 ALY R T L
LELEASR > iR 50 | 1.1 | B bk HE R T T
£ BT AL AT Eein — | AR s | —
1~5TH
4 TR R AT SR T e — | BRAR I LEE L | —
REELIS O I 50 | 1.1 |EkvEEE | —




B0 2465 & =® K 2E
[ HEAUE; £ AR i HER B
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * # ®
VN F& B ET Ecei 40 | 1.1 [ 2. 8l 3. T
2| FRFE] Eceiid 40 | 1.1 [ 2. 8l 3. Th
TS BET B 40 | 1.1 [ 2. 80 3. T
Z| BRACET Eein — | BRAR |V bk MR b v - -
ERRERT 1~ 3 T H Eeit — | B [ALE R — -
{T.HHT WRIEZE) I HE KRR
1 SRR o R A — L 12l | —
2 _EFLEISF MR 40 | L1 12 13 | —
LFRLLA o> it
1 RERRAS TR
(1) Bt L Hindale Py o B2 Tl PRI —e 1o 12 | —
(2)  _EFELiso g 40 19 12%F 13 — —
2 LbRREA O
(1) B R gk P oD 2 F it I —et 9. 2% 100 - -
(2)  EFELASOHIE 40 | Lo o120 | —
HEIERT R g 1 — | B -1 -
RFRRLAS o> Mt 50 | 1.1 - —
EIRERET 1 ~ 6 T B2 — | B# - -
Rt 1 ~6 TH |2 — | B - —
IR EATHT I — | B# - -
HIRFTRERT 1 ~ 5 T B2k — | E#R -1 -
WRET 1 ~3TH |25 — | BBk -1 -
B EEIT sk 50 | 1.1 - -
| REET =58 9 Hiaw
1 EEEIREUIEL PN o 2 A I — 13 o1 | —
2 LERLS o 40 Llﬁ%@gwﬁ =

ERLEAS 0> iUk
1 RREEHR UM 0 B i DI

%4Aﬁ65




&F0 265y i = X 3E
XAk . HED HEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
'S IPNC T 2 kRS OHIK 40 | L1 6.4 8.6 13% 13
K0T TP I AR
1 PSRN o 2 A Hh K —fEn gl o1 | —
2 LELSOHR 40 Llﬁwﬁgm@ -1 -
RS o i
1 BRI PN 0 B A K — el MF 1 I
2 kLo 40 | LU|foagh 17 | —
EERT S A ol — | B RIbuEELREE | —
PERE, N, R
1 R s Py o B A I e 1ypn 16 | —
2 hEEA o i 50 | L1 12 17 12 12
LFRLLA o> it
1 JREEHR A PN 0 2 A DO —f et 17— —
2 RECEAh oot 50 | 1.1 |FIHEE T 14 14
REHA1~3TH |[BHGHE — | BB RbAEEEE | —
ERRLIA O Hite: 50 | L1 |EAEELSE - —
REFTIERT 1 ~ 7 T B2k — | B |EeVERE L - —
FKFFET VBRI HHE RALARIR
1 REEIRS M PN 0D 2 i —{# MF 17 - -
2 LRELSA DR 40 | 1.1 |ArevEEEE - —
B4 ) 1B H TR
1 REEHRBHBIR PN 0> B2 K0 —pE s o1 | —
2 BRSO Mk 40 Llﬁmﬁgmﬁ - -
LELEASR > iR
1 EREERSHIEN O 2 X —E 11 17 - -
2 LERLS o 40 | L1[P 13F 18 — -
ZSIHT 2 40 | 11 [0 2.0 3. Tl 2. 8l 2.8
ATy Fo SR B PR oD o P L X —fti 13 18 | —




ST 265y i = X 1H
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
53 /N[BT R O 40 1. 1 | b e H e - -
f] FEL T Ezecn 40 | 1.1 | 2. 8 3.7 4.0H 4.0
B ET £ 40 | 1.1 [l 2. 80 3. THE 2. 8l 2. 8
o HEET X A ot i%ﬁ%m@%m@ﬁw@ﬁw@
RS o i
1 FREERBE N o B A Hh O —En e 16 | —
2 kLo 40 | 1.1 J%JJ:I:ZEEJ:I:Z’EEP 14 14
E&HT IR 40 | 1.1 [ 2.8 3. 7l 2. gl 2.8
PRFTHT EE 9 Ziawv
1 R R sk PN 0D SR X Js —ti 14t 18 | —
2 RELEAAA oot 40 Llﬁmﬁgmﬁ -1 -
LFRLLA o> it
1 JREEHR A PN 0 2 A DO il 4.4t 6.5  —| —
2 hREELLS o> Mgk 40 | L1|F 6
il FHET Eeei 40 | 1.1 40 2.
EiHET g 40 | 1.1 [ 2.
] Y g 40 | 1.1 [l 2.
FE& )BT g 40 | 1.1 [l 2.
<| B THT HiE4 3 15RW
1 BREEIREME P 0D B T i —d 9. 2 12—  —
2 RELS O HUR 40 | L1|H 9.6fF 135 9.5 9.5
EFELA o> ik
1 BEHRB I A o0 B A K5 —idi 9. 2% 10— —
2 LERLIS o s 40 | L1 o6 19th 9.6 9.5
A% RET Ezin 40 | 1.1 [ 2.8 3.7 3.5 3.5
E =T E#E4 3 15Hhn
1 SR P 0D B A X —ti 5o 6.9 —| —
2 kLSO 40 | L1|F 5.7 8.6F 4.0F 4.0




ST 265y i = X 5E
i KET A4 - HEH HERBE
e R ks @ A o w4 [P PEEERTIBEITOGES
<| mEnr FRLISA DI 0 | il o e o2 |
L] Eceiid 40 | 1.1 [ 2. 8l 3. T 2. 8[: 2.8
Z| EiE T 40 | 1.1 [l 2. 880 3.7 9.7 9.7
_BFRLASN o HitkeR
1 BESEITHHERBV
(1) FEEIRFL I 0 2 H H ik —pt 14 160 —| —
(2)  ERRLAS OIS 40 | 1.1 Elttz'érl:tti’é - -
2 ERRLS O HIEL
(1) R B o B A Hh K —fil 4. 44 6.5 — —
(20 ERELS OIS 40 | L1464l 8.6% 9.7 9.7
JINEEHT IR 40 | 1.1 [l 2.8 3. T 2. gl 2.8
/NFHEER] ESe 40 | 1.1 [l 2. gl 3. TR 2. 8l 2. 8
/NEEHT IR 40 | L. 1[4 2.8 .8t 2.8
THRRHT R T e K 40 | 1.1 —A I [ﬁtt"@
LRELLA D s
1 EE9BHWy 40 | L.1[4 4.0
2 _ERCEA Ot 40 | 1.1 [ 2.8
T T R =i 9 B 40 | L1[# 4.0
LFELIS O HiH 40 | 1.1 [#f 2.8
TAB2HT 7 EhE 9 5w
1 BRI P 00 B A K —peE 9.2 14— —
2 kELUSOHIR 40 | L1 1F 1980 2.7 2.7
ECRLA O H e 40 | 1.1 [l 2. 8l 3. THE 2. T 2.7
HREET =% RIE AR I ERIB W 40 | L1 4.0 6. 4% 2. Tl 2.7
LIS o s 40 | 1.1 [ 2.8 3. TR 2. T 2.7
HERT % RIE 2 BT BRI 40 | L1 |# 4.0 6. 480 2. 7l 2.7
EEELIA o il 40 | 1.1 [Wl 2.8l 3. TN 2. TRl 2.7
THARERT 255 Esei 40 | 1.1 [t 2. 8

3. 7’%‘@. 2.7l 2.7




B0 2465 & =® K 6E
[ HEAUE; £ AR i HER B
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
Z| BT A Eein 40 | 1.1 2.8l 3. THE 2. i 2.7
| HLAHET PR 5 B 35l PR D 22 )t R —ﬁ9JE - —
LELEASN o i 40 | 11| 9.6
FA4RAT g3t 40 | 1.1 W 2.8
YiEmT Ege 40 | 1.1 [af 2.9
12 FRT 0 i gt 40 | L1 W 2.7
2 FET K = Eeei 40 | 1.1 [t 2. TH
(A O o 1 I 40 | 1.1 [t 2. 74
2 AT EH =i 40 | 1.1 [ff 2. 7
= AET{EEE H I 40 | 1.1 [#fi 2.7
122 F T AR I IR 40 | 1.1 2.7
e AT e e 40 | L. LW 2.7
= BT =R e 40 | 1.1 |4t 2.7
1 T % =ty 40 | 1.1 [Ali 2.7
f T R =ty 40 | L1 W 2.7
1= R ET S-AS g 40 | 1.1 2.7
e R ET— 7 BT 40 | 1.1 [ 2.7
1 H BT AR5 I 40 | 1.1 [WE 2.7
fc H BT & B I 40 | 1.1 [l 2.7
U FasHT I RIUEEAR#L
1 BRI P 00 B A K —peE 9.2 11— —
2 kRSO 40 L1f{F 10F 12 — -
FELLA D it
1 REZEITRHHERD VR TREE
Lt
(1) JREEIRELIER A o & F Hi X —eli  15%h 18]  — —
(2)  ERELAAOHIE 40 | 1.1 |RrevEEL | —
2 hERLIA oo Mg
(1) SRR B PN O 5 A i X —5f 4. 4l 6.5  — —




ST 265y i = X 7H
ﬁtmﬁﬁ'ﬁﬁm HERBE
I e N N I O N = i TS A AR
L| FirasHT (2)  EFELAS O m? Lf¢6§$8§¢ ém & ’ |

TR PR 5 B 35l PR D 22 )t R — 9. 2 11 — —

LIS o Hitd; 40 | L1|doef 12 | —

EF53:) TR LR
1 RS M Py o B A X —Ft 13 18 | —
2 LFELIA o i 40 Llﬁmﬁgw@ -1 -
ERLLSh O Hitle
1 BEETREL g PN o B A —# 9.2 100 | —
2 LRELU o i 40 | L1 oo 12 | —
G T EiE 9 Ziawy
1 FREEIRG R o B T —#f 15 - -
2 EELS O 40 | 1.1 [AeHEERTE S | —
ERELASN 0 HiU
1 IR MR o B2 T i Ik —pl 4.4 o
2 ERLEA O 40 | L1|% 6.4% 8.6% 13 13
b P BT HT = R B N O 2 F DX —fit 4.4 - -
LFELAA O Hi b 40 | 1.1|H 6.4fF 8.6 4.5 4.5
RFTET I 40 | 1.1 [ 2. 8l 3. THE 2. 8l 2. 8
YR EERT g 40 | 1.1 [f 2. 8l 3. T 2. 8l 2. 8
Z| S ET gciy 40 | 1.1 (Wi 2. 8l 3. 7HE 2. 8l 2. 8
Il ET g 40 | 1.1 [W 2. 80 3. THE 2. 8 2. 8
7= b R WRGE R R AR W B OV R | LARS
1 BB o B2 A X I — 14 17 - —
2 LS o 40 Llﬁwﬁgmﬁ -1 -
EEELASN 0> iR
1 RS o = A KO —el 1o 14 0 — —
2 LFELh o g 40 Llﬁwﬁgmﬁ -1 -
1A [EiE 9 SV RO RGE HER R,




B0 2465 & =® K 8E
XAk . HED HEBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Tz| EFRET 1 REEHREHIE N 0 B A i DO —ti 14pE 18— —
2 _LEELA o M 40 Llﬁ%@E%@ - -
LELEASN o i
1 EREiR B s Py o 2 R il KO — oo 11— —
2 _EERLISh oM 40 Llﬁmﬁgw@ - -
HAHT WRIEZE) I HE KRR
1 SRR o R A —t 14 o1 | —
2 kRLSt ok 40 Llﬁmﬁgw@ -1 -
FEGH B EG LUK —Fg.gF 100 —| —
EFLLISN O HilE
1 FREEIRG R o B T —R 1L 15 | —
2 LFEEIA o M 40 L1|F 14F 17 — —
EYNAL Eoei 40 | L1 [0 2. gl 3. T 2. 8l 2. 8
2 CHT e 40 | 1.1 |4l 2.8 &7@2&&2&
RALETSHE Hor 45, MR, R, FET, WET, A, |40 | 11 (FECEEETET 9.2 9.2
AT, AT, fREfA. WRA
EEELIA o il 40 | 11 [0 2. 80 3. Tl 2. 9l 2.9
pap S Eeei 40 | 1.1 [ 2. gt 3. TR 2. ol 2.9
FALET IR 5AS = SE TR B AR PN oD FR R i X —fF 1266 160 @ — —
LFRLAA o it 40 1.1 | e e be e 1 11
RHETHFRAL g 40 | 1.1 J?Jtti’éﬁttﬁLm 2. 9t 2.9
RATETFFEE B S T B H IR PN oD 2 P K3 —t 1o 16 |  —
LFRLLA o> it 40 1.1 EJJ:I:?%[:H:EEP 11
FHRTHFEE IR VBRI E KR OEE 4 3 1 5y
1 AHEI61FEMNLITHEETCIH 40 | 1.2 - - - -
3285%Fn5H3286FFT (F—F
RoMELZE L)
2 LbRELIA O 40 1.1 |/ bb 2 bt 2. 9l 2. 9
T B AR IR




H0 2155y s ® K 0
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
7z RALETHFEE R 1 AHE240FMHH276FET ([ 40% L2 T ’ |
—FRAOME L)
2 hRELSt R 40 | 1.1 [EECYEE LEER 2. 9l 2.9
ERRLIA o Hithe 40 | 1.1 Jﬁltti%’;tt‘i‘%[im 2. 9Lim 2.9
RALRAFEErE EiE 4 3 15 X3 RER) I ERERE
1 AMF7T31ENPHI286FET |40 | 1.2 — - — —
(R—F A OEEETr)
2 kLo 40 | L1 |EresEE s Ll 1
_ERCEASN 0> itk 40 | 1.1 JEJtI:i’JJ;H:ZEEP 11
RALRTE Eee? 40 | 1.1 [l 2. g 3. TR 2. ol 2. 9
KRR R S 1A B AR PN D JR X0 —t 1ot 13— —
ERLEASN D i 40 | 1.1 [ELRHEE TR 2. O 2. 9
RART A B ST ARG O
1 JREEHR A PN 0 2 A DO —fpi 108 16  —|  —
2 _ERLEA iR 40 | L1 |AHEERE —| -
EFRLIA O it 40 | L1|F 4.0 6.4 11 11
FAHRT AR VBRI AR
1 REIRE RN o 2 T K —d 4. 48t 6.5  —| —
2 LEELUt oM 40 | L1|H 50 7.5 — -
LFELIS O HiH 40 | 1.1 [ 2.8%E 3.7 1 1
RALHT ZEAR EiE4 3 1 5HW
1 FREEIREMG N o B A K —#E 4. 4 6.5 — —
2 RERLS O 40 | 1L.1(F 5o 7.5 1 1]
ERCEASS D 40 | 1.1 |4 2. S 3. THE 2. 9l 2. 9
FALRT A ARG A, i, Pra. RREEA. B BR[| L1 JEJLH%EJ:I:Z%EP 9.2 9.2
BOE. A, fEIL, REEMEA, BT
i, =R, HIL 'R
_EEELIAN 0> itk 40 | 11| 2. 8wl 3. Tk 2. 9kl 2. 9
FALHT I EiE4 3 15900
1 RN o B A O At 4. 4f@ 6.5 | —




S0 25 B ® K 108
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7| KRALRT 2 BRI OHIR 40 | L1l s 7.y —| -
ERLEASR D Hitl 40 | 1.1 | 2. 8feh 3. 7HE 2. Ofl 2. 9
EZS LIRS R 40 | 1.1 [h 2. 80 3. THRE 2. T 2.7
ST/ £ 40 | 1.1 [ 2.8l 3. TR 2. Tl 2.7
2 BT e ke 40 | 1.1 |E 2.8l 3. THE 2. Tl 2.7
EZ AP Ee:? 40 | 1.1 [ 2. g0 3. TG 2. 7l 2. 7
AN O B Ets 40 | L1 [RE 2. gl 3. T 2. TRl 2. 7
EZedIEL g 40 | L1 [H 2.8l 3. T 2. TRl 2. 7
Bl HIEERT [Ei# 9 SRV R OB S TR HERIB
1 REER s o B s —ti 14t 18 | —
2 _ERLEA ol 40 | 1.1 JEJtti’éEH:EEEP 154 15
LFRLLA o> it
1 ] RIUEABLAE
(1) B R gk P oD 2 F it I I R S I
(2) EFREIAOHE 40 L.1|# 6. 4[: 8.6 154 15
2 BRSSO
(1) BESEIRPL NP O B ] B i —|fd 9.2/ 10 — —
(2)  LRCLAS DM 40 | 1.1|% 19F 124 158 15
He & HT g 40 | 1.1 [ 2.8 3. T 2. 8 2. 8
D FARET gt 40 | L1 [ 4.4 6.4 —| -
ZEILIBTET EoT 40 | L1 [FCHEEECHER 14 14
T| RAET S AT S5 — | B EIeMEE L - —
FELLA D it
1 BEEEREHIE P o A K0 —e 14t o1 | —
2 LELS o 50 | 1.1 J%Jtl:i’érJ:Jtt@ - -
H BT E=eh 40 | 1.1 [Wl 2.8l 3. T 2. gl 2. §
&| BrIRET gt 40 | 1.1 [Wf 2. 80 3. 70 2. gl 2. 8
HUHRRT Esei 40 | 1.1 [ 2.8t 3. 7 4.0/ 4.0




S 295 i =R * 1E
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
&| AARET Ecei 40% 1.1 i 2% 3.% 4.{343 41) ’ |
72| A BT P SR LI PN oD R R K —pE 14 17 — —
EELIA o 10 | L1 |AevEEE
FiRET ESeEn 40 | 1.1 o
oy e AR RS ko FmHk 40 | L1 [ArvEREEE | —
EELIA 0 i 40 | L1|d 49 7.5 | —
FEFERIL 1 ~ 3T B2k 50 | L1 [EredEE e | —
FEFIRA 1 ~ 3 T B[k 50 | L. |FEuEEEe | —
(7| BRI 1 ~3TH ER T AT R _E o Al 40 | 1.1 |EteAEpEEERE —
R S 1A B AR PN D JR X0 e S
LFRLLA o Hie 40 | L1|H 6.4% 8.6 — —
[Egeihigg S B b sk PN D R P L R 1 ol 4.4 6.5 |
EELIA O 40 | L1|F 6.4 8.6F 4.5 4.5
P ET % SR B HIER PN oD 2 T M X —t 9.2 11 - -
EFRLIA O it 40 | L.1|R 9.6 14 13 13
PHATHET I 40 | 1.1 [ 2. 8l 3. TiE 2. 8l 2. 8
P ARAHT B TR LI PN oD 2 T X —t 8.5 9.00 - —
LFRLAA O iR 40 | L1|H 9.6 120 9.5 0.5
PEARHET I 40 | L1 A0 2. 8 3. Tﬁﬁ 4. Ol 4.0
5 - FEET gciy 40 | 1.1 J%ttﬂj;tti’é -l -
o BFRET gt 40 | 1.1 |l 2. gl 3. 7
BPHRHT Estcn 40 | 1.1 [ 2. 8 3. 7
B A HT i 40 1.1 [ 2. 8 3. 7
i3] IET WGE HERARRIB
1 ERRER B PN o 2 R il s —Ft 1o 12l | —
2 LERLS o 40 | L1 12d 13 14 14
L FRELA o itk
1 RN o B A O —JHti o. 2’;’@ o - -




ST 265y i = X 128
AT M HEBHE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
V3| RS 2 FEELIS R 40 | L1 10 19 14 14
Oy FRJRET Eceiid 40 | L1 |#E 2.8 3. THE 2. 8 2.8
RAPPEET WGEZAT R HERIR W
1 EREiR B s Py o 2 R il KO R I
2 FEREAAh o Mgk 40 | L1|% o.gf 13 4.5 4.5
LFRELA o> it
1 SRR o R A —ft 4.4l 6.5 —|  —
2 kFCLA o Mtk 40 | L.1[|# 6. 4[: 8.6/ 4.5 4.5
BT o R BRLHIER PN oD o P L 3 — o9.280 12 — —
EELIA O Hi 40 | L1|4 o6 148 13 13
HBRAHT SR B IR PN oD B T K —#E 7.0ME 9.0 — —
LFRLIS 0 s 40 | L1|F 9.6 10F 9.5F 9.5
S JERT R R 5 — | B |EEAEEEETE — —
RFRLLA o> Hitkek 50 | 1.1 |FHHEERY — -
ME1~4TH B AR 135 — | B ALERLE | —
ERELASR D iR 50 1.1 |8 bb e b - -
FEFHET RE I IHE R
1 BFEREHIRN O R A KR —f 1 12 | —
2 _kERLIA o Hi 40 | 1.1 J%tm%r;tti’é — —
LFREAS oD Hirtsk
1 BRI P 00 B A K —peE 9.2 100 —| -
2 RERLS O 40 | L1(f 1 12 9.5 9.5
TF-HHET PR A5 B b gl Y oD JE FH e Xk —#t 7.0 9.0 — —
RIS o s 40 | L1 | HHEE S 4. 0P 4.0
22N ETOF)] EiE 9 &\, EE 1 8 45 EUMSL |40 | 1.1 [FwrgEE | —
A%
HEEIEANGS: F 40 | 1.1 [0 2. 8l 3. TG 2. T 2. 7
)| HYF] = =4 40 | 1.1 (Wl 2. 8l 3. 7 2. 7l 2. 7]
) NETSFER Esei 40 | 1. 1[fE 2. 806 3.7 | @ —




ST 265y i = X 138
i KET A4 - HEH HERBE
e R ks @ A o w4 [P PEEERTIBEITOGES
Ol 211 VR TSR L w | lragred 2 9T
EFELIA D Mtk 40 | 1.1 [ 2, S 3. THE 2. 7jdE 2.7
21| BT 2£5E [E58 9 FHRV D 3 BT HSRE 6 RGE
R E T O/
1 REERE N O = A R — 14 21— —
2 RO R 10 | 1.1 J%rtz%r;ttfé - -
RFERLIA D HitE
1 RSEIRELMIR P 0D 5 i B —l 2. 860 3.7  —| —
2 EERLAOHIR 40 | 1.1 | 3.6 6.3%0 2. 7R 2.7
21T LR Eif 9 SV R UTTHERE) ] 4 SR
1 BRI o B2 A K —t 14 21 - —
2 FEELIS R 40 | 1.1 [EvEE b - —
ERCEASR D il 40 | 1.1 i 2. gl 3. THE 2. 7jeE 2.7
3EJ1BT LBy EE 9 Favy, BaE FABEILIFEIEHRIGYY 40 1.1 |8 bb HEA b v - -
. RNNTERR S 0 RN —F & 0
LRELLA D s
1 FEZE) 4 SRV 40 | 1.1 | HEEE b
2 _ERCEA Ot 40 | 1.1 | 2. gl 3. T
3£ )I[FT ez I 40 | 1.1 [l 2. 8l 3. 7
)[BT 49K ME#/I] 4 SRR 40 1.1 | L e L Y
LFRLIS D s 40 | 1.1 i 2. gl 3. TR
LB 1B 4 FARIR 40 | 1.1 EJI:I:?%EJ:I:@\
FRLASR o iR 40 | 1.1 [ 2. 8 3. 7
JIETRH RSB S TR AR I 40 | L1|P3.8f 63 —| -
LERLIA o Hig: 40 | L1 [0 2. 80 3. T 2. Tl 2.7
21| BT 3 VR S TR AR IR 40 | L1|P 3.ef 6.3 | -
_EEELIAN 0> itk 40 | L 1|eh 2.880 3.7 — -
1N =43 VL8 - FFEAR TR 40 | L1|f 3.6 6.3 | -
LIS o HHE 40 | 1.1 [0 2. 8f@ 3. 7@ 2.7} 2.7




S0 25 B ® K 1H
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
N 21T M BRI 4 SRR 40% 1. 1=J§Jttzfga=tti”§% 2.%@ 2f7 ’ |
ERLEASR D Hitl 40 | 1.1 [ 2. 8[; 3. TG 2. Tl 2.7
21| BT 38 9 HaV B RIRGE R ITERB W
1 EREiR B s Py o 2 R il KO — 14 21 | —
2 _EERLISh oM 40 | 1.1 JEJtti’éEtt@ - -
LFRELA o> it
1 TEE 4 SRR 40 | L1 | EEEE bR 2. TR 2. 7
2 mE#)I3 7 9 BRnu 40 | 1.1 JEJH:Z%EH:ZJ -1 -
3 LRI o HikE
(1) R RS i o B2 A Hh X —ft 2.8t 3.7 | —
(2) RS HuIER 40 | L1|¥ 4 4[: 7. eT@ 2.7l 2.7
)BT E A EE 9 Hiwv 40 | L1 [AsengE ey | —
ERELASN 0 HiU 40 | L1 A 2.8 3.7 —| —
22 JI[HT S5 =ty 40 | 1.1 [l 2. 8l 3. T 2. 7 2. 7]
=R EJF 9 BV R ORGE TR B L= B #E
1 IR o 5 A Hl O —hl 14 211 —| —
2 kLSO 40 | 1.1 JEJJ:I:‘Z%EJ:I:ZE - -
RERLLA o> Hig
1 TEE 4 BHRRB 40 | L1 [EseAEE b - —
2 kiAo
(1) iR BLHg A o B2 F Hh s —ft 2. srﬁz .1 — —
(2) BRSSO 40 | L1|F 44 7650 2. 70 2.7
22 11T VR S AR TR U 40 | L1 3.0 6.3 — —
_ERLLASS oD i 40 | 1.1 [#l 2. gl 3. TRl 2. 7Rl 2. 7
EIIEAR = =ty 40 | 1.1 [ 2. 8 3. TG 2. 7 2.7
LIV RIEHABEILE EHBRIE 40 | L1EE 14 21— —
_ERCLAS Dt 40 | L1 2.8k 3.7 — -
Iy S =AY = RN s ) T AU 40 | 1.1 [ 14 21 — -




ST 265y i = X 165
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
OEILLEE EFCEAS o Hirh 40% 1.1 i 2% 3{7 B i |
22 ([T = Eceiid 40 | 1.1 [k 2. SE 3. T@ 2.7 2.7
21| BT &R (& 9 S 40 | 1.1 —JEE -
BB R BIETS SRR 40 | L1fME 14w 21 | —
EERLIA o Hitkek 40 | 1.1 |#h 2.886 3.7  — —
5 fEEmT Eein 40 | L1 B 2. 880 3. THE 2. 8l 2.8
-~ ERET Eet: |t 2. gl 3. T 2. 8l 2. 8
BIRTHT I 40 | 1.1 [ 2.8l 3. il 2. gl 2.8
VE AR g 40 | 1.1 [ 2. g 3. TR 2. gl 2. 8
E| BAKET Bt 40 | L1 2.8 3.7 9. 7R 9.7
SEAALET IR 40 | 1.1 [l 2.8 3.7 9.7 9.7
FA%F T HT S R R Lo A i 40 | 1.1 [HeYEEEE | —
ERELASN 0 HiU
1 R R ARST ARG W R ON TS B
31 9 FHHRW
(1) B3R TP o B2 F X I o 1086 160 |
(2) BRSO HIR 40 1.1 Jﬁlblzi’érl;gtl:f%qﬂ 14 14
2 _RRLLISh o HiE
(1) EEAREL AN 0 2 Hh —t o9 gl 100 | —
(20 LREUSDHIE 40 | L1|F 1fE 13% 4R 14
77 RET IR 40 | 1.1 [ 2. g 3. T 2. gl 2. 8
Z /N IR 40 | 1.1 (W 2.8 3 7[:@ 2. sEm 2.9
ERHT e 40 | 1.1 [fl 2. 8l 3.7
FELRET Eoeiy 40 | 1.1 [f 2. 8l 3. i
=T et 40 | 1.1 [#l 2. gl 3. 7
A=) WGEZE) I HE AR
1 RSERBUHEE PN 0 B T s —Jiti 4. 48 6.5
2 _ERCLMAE Ot 40 | L1|% 6.4% 8.6
L RCLAS 0D Hirdeg 40 | 1.1 W 2. 8ff 3.7




ST 265y i = X 165
XAk . HED HEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
R FEFHT il I PPNE:]
1 BEEREUIEL P o B A X —F 13 18— —
2 BRSO 40 L1E¢$Em@ -
_EETLAS 0 Hitdk
1 IR MG PN o 2 P b X —H 1UEE 18 | —
2 LFELIA o i 40 | Lt|do 13l 18 | —
K RHET EHiE4 3 15H0
1 BN o B2 A MK —Ht 9. 28 12 | —
2 LR oM 40 | L 1| 128 14 9.5 9.5
EFLLISN O HilE
1 FREEIRG R o B T —Ft 9.2 100 | —
2 LECBUt o HbR 40 | L1|F 9.6 124 9.5F 9.5
K| REFET Eoei 40 | 1.1 [ 2. gt 3. TR 2. 8l 2. 8
A\ JHEE ST =ty 40 | 1.1 [ 2.8 3Jﬁ2ﬁL2ﬁ
| TERBET AR A bt — | e |REEREYE - -
ERELASR D iR
1 BEEIR R Py oD B A M X —fli 13 17 —| -
2 LRERIAh oD ey 50 | 1.1 JHEEEME Y — —




